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Read the passage carefully and answer the questions (1-8) that follow by choosing the best
alternative:

We must insist that free oratory is only the beginning of free speech; it is not the end, but a
means to an end. The end is to find the truth. The practical justification of civil liberty is not that
the examination of opinion is one of the necessities of man. For experience tells us that it is only
when freedom of opinion becomes the compulsion to debate that the seed which our
forefathers planted has produced its fruit. When that is understood, Freedom will be cherished
not because it is a vent for our opinions but because it is the surest method of correcting them.
'The unexamined life', said Socrates, ' is unfit to be lived by man'. This is the virtue of liberty, and
the ground on which we may best justify our belief in it, that it tolerates error in order to serve
the truth. When more men are brought face-to-face with their opponents oh, forced to listen
and learn and mend their ideas, they cease to be children and savages and begin to live like
civilized men. Then only is freedom a reality when men may voice their opinions because they
must examine their opinions. The only reason for dwelling on all this is that if we are to preserve
democracy we must understand its principles. And the principle which distinguishes it from all
other forms of government is that in a democracy, the opposition not only is tolerated as
constitutional but must be maintained because it is in fact indispensable. The democratic system
cannot be operated without effective opposition.

How, according to the passage, democracy can be preserved?

(A) By making good leaders (B) By changing principles
{C) By having an effective opposition (D) With the help of good teachers
Virtue of liberty means

(A) Having a good personality (B) Doing debate

(C) Tolerating errors to serve the truth (D) Having free will
When, according to the passage, freedom will become a reality?

(A) When men voice and examine their | (B) When we have a good government
opinion

(C) When we can do whatever we want | (D) None of the above
The life is unfit to be lived by men.

(A) Civilized (B) Unexamined

(C) Liberal (D) Democratic

'The end is to find the truth'. What kind of noun is ‘truth’?

(A) Abstract noun (B) Proper noun

(C) Concrete noun (D) Countable noun
Identify the word opposite to the meaning of word 'Savage'

(A) Barbaric (B) Turbulent

(C) Civilized (D) Fierce

Identify the word closest in meaning to the word 'vent'

(A) Barrier (B) Repress

(C) Cunceal (D) Express feelings
Which adjective can be formed from the word ‘man’

(A) Men (B) Women

(C) Manly (D) Main
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Read the passage carefully and answer the questions (9-16) that follow by choosing the best
alternative:

The third great defect of our civilization is that it does not know what to do with its knowledge.
Science, as we have seen, has given us powers fit for the gods, yet we use them like small
children. For example, we do not know how to manage our machines. Machines were made to
be man’s servant; yet he has grown so dependent on them that they are in a fair way to become
his masters. Already most men spend most of their lives looking after and waiting upon
machines. And the machines are very stern masters. They must be fed with coal, and given
petrol to drink, and oil to wash with, and they must be kept at the right temperature. And if they
do not get their meals when they expect them, they grow sulky and refuse to work, or burst
with rage, and blow up and spread ruin and destruction all around them. So we have to wait
upon them very attentively and do all that we can to keep them in good temper. Already we find
it difficult to work or play without the machines, and a time may come when they will rule us all
together, just as we rule the animals. And this bring me back to the point at which |
asked,' What do we do with all the time which the machines have saved for us, and the new
energy they have given us?' The answer, | think, is that we should try to become more civilized.
For the machines themselves, and the power which the machines have given us, are not
civilization but aids to civilization.

What, according to the passage, has given us gods like powers?

B (A) Civilization (B) Science

(C) Saints (D) Magic

10. How machines have become our master?
(A) Machines are costly. (B) We are over dependent on machines
(C) Machines demand maintenance (D) Machines are hard to manage

17 Why machines are stern masters?
(A) Because they demand care and right amount of fuel. i (B) Because they are complicated.
(C) Because they are man-made. 1 (D) None of the above

12. What according to the author can be done with the time which machines have saved for us?
(A) for taking care of machines 1 (B) for becoming more civilized

(C) for spending time with friends and family L (D) for going to vacations

13.

What will happen to machines if they are not looked after well

(A) They will grow sulky | (B) They will stop working.
(C) They will spread destruction all around. ] (D) All of the above
14, Choose the synonym for the word 'sulky’ as used in the passage.
(A) Silky (B) Cheerful
(C) li-tempered (D) Amiable
15. Select the opposite of the word 'stern'?
(A) Serious (B) Genial
(C) Unfriendly (D) Grim
16. . “The machines are very stern masters’.
In the above sentence, what is ‘very’?
(A) Noun (B) Adjective
(C) Verb {D) Adverb
17. is the relative degree of prominence with which syllables of a word are
pronounced.
(A) Word accent (B) Suffix
(C) Prefix (D) Phonetics
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18. There are consonant phonemes in RP (Received Pronunciation) English.
(A)21 (B) 22
(C) 23 (D) 24
18. On the basis of place of articulation, /n/ sound in ‘noise’ is
(A) Plosive (B) Affricate ___ ... -
(C) Nasal h (D) Lateral ﬁ
20. The goal/s of English language learning at primary level is/are 5
(A) Attainment of a basic proficiency as | (B) Development of language into an instrument for ]
is required in natural language learning | knowledge acquisition |
(C) Both 1 and 2 (D) None of the above |
21. The body of empirical rules which explain and regulate the structure of the sentence is |
(A) Grammar (B) Phonemes
(C) Morphology (D) Syllable
22. Which of the following is not the value of teaching poetry?
(A) Sublimates emotions (B} Means of giving aesthetic pleasure
(C) Develops power of imagination (D) It is monotonous
523, In method of teaching of grammar, examples are placed before the students who
draw their own conclusions.
(A) Deductive (B) Inductive
(C) Prescriptive (D) Descriptive
24. Introductory greeting in a letter is
(A) Heading (B) Salutation
| (C) Body of the letter (D) Subscription
; 25. According to Billow, is a morale-building and an interest building enterprise for the
i students.
(A) Storytelling (B) Dramatization
(C) Poetry | (D) Remedial teaching
26. CLTA in pedagogy of English stands for
(A) Communicative language teaching (B) Communicative linguistic teaching approach
approach
(C) Communicative language teaching (D) Communicative linguistic teaching application
application
27. Find the word nearest in meaning to 'ratiocination’
(A) Woman who owns a business I (B) Official charges for a crime
(C) Process of thinking and arguing logically | (D) A substance in our body
28. Find the word opposite in meaning to 'Slumber’
(A) Happy (B) Wake up
(C) Lovable (D) Wait
29. | bought it hundred rupees.
Fill the appropriate preposition in the blank.
(A) Into (B) From
(C) For (D) Beside
30. What are the qualities of a good classroom speech?

(A) It should be done at normal speed | (B) Pauses should be carefully inserted

(C) Speakers should make use of proper stress and intonation | (D) All of the above

3 of 20



asfﬁ’%g%ﬁugamﬂaam?sss’a%e"saﬁ&—

H3 a3t feg g99 e 3t yIng J983 &8 33Uz 3 Tt feghut T€t A& 93¢
T UR g 853 83 yzT &t fan ¥ 5o fagr afims & fegr fomr #hiafierd € I
g3 €% 9 He Iy d Quv fU=d U Te3T Tt gort e TEit A vw €3
BTG 3 ¥ g, Fa%, USHS € €5% &%, W%, 99 3 3% uSdt gamt €9 §5 o
AAE J€ A& | B3 € OdT uTH I8 JIH niftmiust wet & stditeft JEet B 1 g feast
IJTHMT 3 BE € n@-gn® fAe ‘Sdh” uer feger AT

fefeniradt I391 fe5 »® 3 ANST nigA™T §a¢ I° | Mftmimud i -mrusnt FHST Tt
39t fu'g u33, fiors 3 g3 wagrae fadt &% fefenradint § fast foB-98 gu J3a
F5s e gEfEst @ 99 A | U fefonradhnt e s fie-32 ves9 €% g 7w A
e fERUaeT 3 IB3HAET Aoy ve37 &5 foa® & 999 »ie 3t A fefanrget GO T
&, GU-TY 96 a2 | BF B 39 HAeT 3 fens eavet 3 A fefenraet b3 7 a2 |

31. Ug feg nifen FaT ‘H38% [enfdos ngHg-
(A) UTaie 9 (B) FHT-T9H &' I
(C) Afanr-z/ga &ie I (D) femme 3
32, g few fam nirgs ‘3 wes-9g @ug faar 97
(A) frmrAt mo7 (B) fAfemr =239
(C) AT (D) HE"
33. fer U3 feg e mae ad & of »iag 97
(A) 393 (B) 3&H
(C)&3 U (D) ®ET
34, TAH ‘TIT TF UH 3 off AHSE 37
(A) 85T &t (B) ASH & UTHT
(C) yadt ymAT (D) Uit T AT
35. g9 it A3 o0 deeox feRAE [qa3T 97
(A) gT" (B) uatt
(C) I (D) Buda3 AT
36. miat far gt ‘3 Srfent famr AT?
(A) BF §ud (B) FgT® © g9
(C)T=e39 € gJ9 (D) Busa3 et At
37, ‘q39° 3 Al FE I?
(A) frET (8) Iftmir &
(C)F3 (D) A39
38. Uy <8 I3 H9E A &< I8, AT 9€ a9
(A) nfftminus (B) fefenrast
(C) ¥¢ (D) Buda= A9
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TH € &HIE fT9 78 99 He #t

4 of 20




HAeInft YA Ut Ut HdapAt Adaht
afenrt 3 drgt § T8t Ba Jaret

@ fag ugt 8ae HIE wiar niar €t
fitst dhort Szat ‘9 far® e FET

UA A Gror ©f 9et 8ad fazdr
39 83 78 ®sHa fAE U=ar
TgeT 3 Baat &9 13t 893 aA9d
Tt gdadthnt, AS © niddd
gt hat gRdter 3 53 €' 59 At
39. gfe 22 © Heds feg ‘Tas’ T nide-
(A) =7t gt Ut (B) =faz
(C) uar=t (D) efam™
40. ‘Afeon” 3 fog ot 32 97
(A) aet faad AWET Fd% (B) 2"
(C) 9 Guag et (D) e
41. SHT 3 @l HienTd e d »gel—TeH 34 (<9 IGH Hien™s <& [ErTaT 13T fami 92
(A) dr=Ts 3t (B) famst
(c) 2t Adt B3t (D) 3797
42. arfe 22 feg Hfenrg © »rBz &% ©F © 3AY IaH 3g' € ©H A" 3d I&?
(A) &' (B) 59
(C) Irs (D) 59T
43. TIfanr ‘T IaT MSE BEl niedl -Ted FEe dfan” faH ferradied gu feg nifen 37
(A) »iH &< (B) H'H &<
(C) yarrg =g fafanr fenms (D) FETs o fafamr ferms
44. feg ‘gt mue fermes <t fxost famy 92
(A) ufgns =9 feRmE (B) I @9d feRms
(c) forg = fermz (D) uzm=t feRm=E
45. FfezT feg ‘T’ e of M9y 97
(A) B (B) IgHI
(C) TTrarg (D) g&R="
46. <t g39" fdn €9 d ©f 1% &9 1997 7
‘ (A) JHBT 5% (B) UH A& GH&T &%
(C) AGaTg TniTaT (D) BT &'
47. FHT 3 fAyfent 99 Jfoe fod 3¢ 57
(A) FEX (B) Uz
(C) Budas €< (D) Bugazs IEt &It
48. I Toitmit fe g fad3T H'3 ITHT TR 1T e (O3 97
(A) Hafefamis 3° 39 (B) Fer 3° wiw
(C) AEaT, U3, fausr (D) T3t Bar &% fAUSET
49. Ao IHS & 22 d1ont [<u [<afH3 36 &et 1add3T nifsm™ &d<e d<ar?
(A) niruHt aT SIS (B)Ir&a™s € &rot gu
(C) 23t afezr v B9as (D) Budas AT
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50. BT A& b (<3 96 ®el (3T mifsntd agdl 97
(A) AHfod f<3T US (B) % 3T T MTAHS
(C) Bugas ©< (D) &=t 2t &at
51. yTS '@ 39-
Adt BEs Yfafon % adt IT® & 99 »H Idd———---——- I TS|
(A) fenivs &u (B) =g &Y
(c) arfaz (D) HE<T &Y
52. &THA A=d Uaint 3 nifas I96 &=t feut o 293 faa3i &ar &% Jef J°?
(A) frarat (B) faarat
(c)a= (D) Bugas AS
53. Urdl gTHT feg @0 @4 ME T 899 a3 I67
(A) FeT &Y (B) A=g =T
(C) Budas v< (D) Budas aEt &dt
54, gc gfon g feue fmr@z ©F f3nrdt © nifgnA Et [d03 736 I3 77 Ade I57
(A) fEatnii-2Enit saltat =B (B) I®H @35 ©F AJl €dT ©AST
(C) =9 T »niugd' 3 B9 e9aT (D) Budas A
55. foust 1 o AUl &Et foozgT Qua® Ad 9 AaeT J°?
(A) 9 T AINE AUt (B)dre g&T & HUTET
(C) Budas v (D) Buda= o=t &at
56. fefonragn® @8 <de A HuT B9 © UdY ode AN HTIHE MTEInf Ig et & ot age
J AaET 7
(A) niftriux & HOH e (B) fefenradt € wafRa nirfagsT
(C) 73 niTad® T 3=ds feg Idcmit | (D) Budas A9
57. gc Ffgn g Urdl 3T fANTRET M9ge BTl Agdl B3 99 o HHS Jddl ?
(A) feret-R93 Aofea ArUs (B) fafanm3Ha Arus
(c) Budas ©< (D) Budas et &t
58. TS 8 F9-
g firfier fedt few guosHa fafir &8t —————————- AJE Je T
(A) Afg3 a93 (B) Mg IS
(C)Y=H 33 (D) foa™ 93
59, yrfeHdt M3t € U's-yAsd © 79! dIe’ ®el Addt 33 off 42
(A) fefmi® Tt S5-A<a3T (B) Gar HET=SI
(c)Afgsg U3 (D) Bugas A
60. ITHT YGIITH'S STl B3t AHdIdT feg of ATH® addl ?
(A)IB-Re (B) nEt-25
(C) Budaz v< (D) Bugaz =t &t
61. represents the pattern of biological, cognitive, and socio-emotional processes

that begins at conception and continues through the life span. fe-fefomrs, du=Ha
N3 ANAI-IREBHA Yffaniet @ U29s 8§ TIA8e J H 498 niRAE I HY Jer J mi3 Hies
% I Argr fder I

(A) Development/ feam (B) Growth/ =ar

(C) Maturation/ ufouasr (D) Cognition/ 8T
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62.

Piagetian concept of the incorporation of new information into existing knowledge is called
J e fomrs 89 5t weardt § AHS H96 € UEddnG TT9aT 3 faar
Aer

(A) Assimilation/ AHEITIE (B) Accommodation/ faarfer

(C) Organization/ HIGS (D) Equilibration/ A3®S

63.

Who among the following presented a social constructivist approach to learning? Jst fafamnf

&g fam 3 fifus &t ANfaa J9&3Ha Udd UA dist?

(A) Ausubel/ WHES (B) Gagne/ 3J@&

(C) Jean Piaget #& UTgldie (D) Lev Vygotsky &< fedrerat

64.

People value trust, caring and loyalty to others as a basis for moral judgment, represents
which of the following stage of Kohlberg’s theory of moral development?/ 3 3f3« fegg ©
g €3 gfirt yFt fereh, u® »i3 TEEH € qEd J9€ I6, JIHHI T 3fsx feam ®
fAut3 @ I Uz &5 fam & sar@er 9 ?

(A) Stage 2 Individualism, Purpose, and (B) Stage 3 Mutual interpersonal expectations,
exchange/ u3™mi 2 fena3iere, 8€H ni3 | relationships, and interpersonal conformity/ Uusmf
Erarci 3 miurt ugAuT e, fars w3 nizg-fonaStars

(C) Stage 4 social system morality/ uSmf | (D) Stage 1 Heteronomous Morality/ u=™f 1 fefss
4 AHTAX Y&t 3f3a3T afzazr

65.

In triarchic theory of intelligence as given by Sternberg, which of the following is not included?

mmﬁéfaﬁgﬁ%%ﬁﬁﬁ?ﬁgﬁ’aﬁsf&mﬁﬁé‘%ﬁmﬁ% ?

(A) Spatial/ Fefsd (B) Analytical/ fRASHEIHI3"

(C) Creative/ IT&IHA (D) Practical/ fegaa

66.

Which of the following represents the acquisition of a traditional masculine or feminine role?/

Jo fofimit f25° faoz ffa uFugaz Hae = fersSt giier &t yust & ear@er I°

(A) Gender roles/ A'89 gfHare’ (B) Gender typing/ 7’39 cretfiar

(C) Gender integration/ 39 EAdI5 (D) Gender stereotyping/ R39 AIatGerefiar

67.

In Pavlov’s experiments, Pavlov gave food to the dog only after ringing the bell, not after any
other sound, represents which of the following concepts?/ U=&< € Ywdr feo, usse 333 3
Wt =l = amie It 3s fn, & X fai 99 niew 3 amie, Jo fefimit fE8° faadtrt arasr=t
g EIAEET T 7

(A) Generalization/ ATUI&I&IS (B) Discrimination/ fezaar

(C) Extinction/ m&Y J&T (D) Sensitization/ HRE&HI®B3T

68.

The concept of child-centred education is advocated by/ T®-aefgz fAftmr ¥ Ha®U o S %3
o=t 9 :

(A) John Dewey/ #i& 32T gn/dT (B) Pestalozzi/ URSSHT gndT

(C) Herbart/ Jggdc enfdT (D) Froebel/ eo9® gnd"

69.

Which of the following is not the characteristic of emotional intelligence given by Peter

Salvovey?/ oo foftmit 5 fxaat teg Awe<t gurar 3t ot gessvx gt & femmsT 53t 9 ¢

(A) Perceiving emotions/3=@&< @ HHSE' | (B) Managing emotions/ T T YHUS TIST

(C) Using emotions/ <a'et ¥ @93 &3&" | (D) Controlling emotions/ 3<&T=! 3 g qI5

70.

The concept of continuous and comprehensive evaluation is introduced in the year J

fsd39 ni3 fenmug Hias & U9&T IS f&g Um =izt aret I

(A) 2010 (B) 2005

(C) 2009 (D) 2004

7

The conflict theory is given by/ Fuar fAui3 37 famr T :

(A) Emile Durkheim/ "HI® TIUTEH @ | (B) Karl Marx/ 9% HdaH €d"

(C) Robert Stolle/ Ig4da REH a7 (D) Max weber/ HaH 283 gnTdT
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72.

Which of the following classroom environment places no demands on the students of any sort
and students are actively supported in their efforts to seek their own ends using any reasonable
means?/Js f&fimit RS* faosT a@mHIH Hds fai & fary @ fefonradint 3° &t Har a0t Juer
w3 fefouradt fai & =wg Aust & 293 g9d »uE BeFT & I® I95 © L3S T A9 5%
AHIES Jde I57

(A) The authoritative style/ »fuaa3 A&t | (B) The Indulgent style/ yrAs Bt

(C) The permissive style/ nifamiergt A& | (D) The democratic style/ B339 A

73.

Which of the following represented the four clusters of emotional intelllgence given by
Goleman (2001)?/ di®R& (2001) grirar &3 a2 I=a=Ha g0t @ 89 AHTT & Jo feftmi f&8°
fagzs eam@er T

(A) Self awareness, social awareness, | (B) Self motivation, social awareness, self-
self-management and relationship | management and relationship management/ A2
management/ AR FWIGEST, AHTAF | YI&T, ANTHR AQIGSST, AS-YHUS W3 AET y¥Us

AYgS3T, AL-YHUS W3 AT y¥us

(C) Self awareness, social awareness, | (D) Self concept, social awareness, self-concept and
self-concept and relationship | relationship management/ HI-Aa®Y, HAHTHI-
management/ AR AWGdsT, FAHTAA | AdgasT, AR-AasY w3 famsT ydus -
G, AR Aa®Y ni3 AT ydus

74.

Which assessment technique is subjective in nature? /fSUst HSaE 3BT AS™T &9 fena=sta=z
g2

(A) Objective type questions/ TR3fsHE ya'd € YRS ] (B) Quiz/ Ifew

(C) Rating Scale/ 3féar AA® | (D) Multiple type questions/ Sg-Ya&'3 ¥ YH&S

75,

The best child centred approach of learning is /fHuE € A 3 e g8 Jefds Udg I :

(A) Enquiry based learning Uzfarg norfas fiaus=t | (B) Concept formation/ Ha®Y fsanrs

(C) Project based leanring/ ynae »murfgs fAauy®et | (D) Lecture/ 3dg9<

76.

Reciprocal determinism model of albert bandura consist of following three factors except/

W@W%Wmmﬁaﬁsﬁw&ﬁmmﬁﬁaﬁammw:

(A) Behaviour/ fegaa (B) Person/ fewa=t

(C) Genetic/ Adfex (D) Environment/ ¥ 3<ds

77

is a classroom in which students from different cultural backgrounds cooperate by
doing different parts of a project to reachacommongoal./ & a®AIN I fan &
Y- wn@nmaﬁaaae%ﬁﬁmaﬁfﬁéan@zﬁsauﬁa&mﬂ%aqﬁazéw—ﬁw
9o AT J92 TS |

(A) Group classroom/ AHT JI&HIH (B) Jigsaw Classroom/ fraiH S&HIH

(C) Paired classroom/ #3840 I&HIH (D) Pair-share classroom/ Ung-Rnid I&HIH

78.

The Erickson theory of development comes under/ feam & Wfgars fAUE widts »r@er 3 -

(A) Psychoanalytic theory of child (B) Behaviourist theory of child development/
development/ % fearm e Hafefamiaa fAutz | o8 feam @ fezogewt fAus

(C) Cognitive theory of child development/ ¥% | (D) Constructivist theory of child development/
feaw & HuzHa fAuts g% feg'A T I9E3HR fATTS

79

Thurston’s group factor structure of intelligence does not include which of the following

factors?/ B9res € fE2@INA ¥ AYT a9x =39 &Y Jot 3 g 9" ooz Avs &t 3

(A) Number factor/ Hftmim a9a (B) Memory/ RHdt

(C) Word fluency/ "Age & geradit (D) Abstract thinking/ »H33 A9
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80. Which of the following is not a part of factor theories of intelligence?/ J&" fid3 &9° fagsT g4t
v g9 fAgizt v fomar &t 32
(A) Sternberg theory/ Ac3&ggdr fRUS (B) Vernon Hierarchical theory/ 355 JTEaddia®

fraiz

(C) Thurston theory/ g9Acs fu’3 (D) Guilford theory/ fa®egs fAu’s

81. Stanford Binet scale is a type of ./ AZseds fadc Aa® &t & famr T
(A) Verbal test/ Hfuar 2Ae I (B) Non-verbal group test/ a9 Afax AT SRS
(C) Individual verbal test/ fenia31az Hfux 2Ae ‘ (D) Verbal group test/ Fifdx AHT 2AC

82. Terman defines intelligence in terms of/ 2aH& gdt & fom yarg ufgefas ager T
(A) Ability to adapt/ ¥'®s & AHIET (B) Ablllty to understand/ AHSE € GarsT
(C) Ability to solve problems/ FHTrm=t | (D) Ability to think in abstract terms/ ¥y Fget fog
3 I% 95 ©F AHIET AgE < garsT

83. Who gave the concept of Kindergarten school?/ f&83ardcs AgS & ugs fams fe sty
(A) John Dewey/ #5 3<t (B) Pestalozzi/ UASSHT
(C) Herbart/ g9g39< (D) Froebel/ 238®

84. The correct sequence of categories of learning outcomes in affective domain is/ yg=<t 31 feg

fius € a3t St gahe T At g 9

(A) Receiving, Responding, Valuing, | (B) Receiving, Responding, Organization, Valuing and
Organization and characterization/ Y3 | characterization/ Yu3 Jd&T, ALY T&T, AIGE JIaT,
fermzT
(C) . Receiving, Responding, Valuing, | (D) Receiving, Responding, Organization,
Organization and characterization/ Yy™u3 | characterization and Valuing/ Y3 d39&7, 729 €&,
II&T, ASH TE, H® T, HISS M3 | Ades, feRE3™ m3 H®
fermzT

85. ADHD stands for/ ADHD €T »dg J
(A) Attention disorder and hyperactivity | (B) Attention deficiency and hyperactivity disorder/
deficit/  »HE  f3rngs9  W's | MICHS 3ERH AF
gretuygniaetieet sfefie
(C) Attention deficit hyperactivity | (D) Attention disorder hypertension deficit/ »WZHS
disorder/ WMSHS sfefre ' | Brmrgse M3 aEluanadtfedt 3fefre
TEhUIacedt fsrmasa

8é. are problems in pronouncing sounds correctly./ et T 7Adt 89798 J95
&g mifmret o5 |
(A) Fluency disorders/ y=7g fearg (B) Articulation disorders/ m3cta®na fedg
(C) Voice disorders/ niet Hedl feag (D) Language disorders/ 3™®™ HeUl fearg

87. A teacher is using an alternative computer keyboard to facilitate learning of a child suffering

from cerebral palsy, is an example of which type of technology?/ fendft niudar iz 99 ©
fiyz € Ao®3 &t f8x niftmux foa feasfua dtgas € 293" a9 faor 3, feo fan fary &t

IFEHAT & X GEdaE 97

(A) Instructional technology/ fasera
ITEBAT

(B) Computer assisted technology/ &fu8z3 FAorfex
IISHAT

(C) Assistive technology/ ATTfea
IASTHHT

(D) Complex hypermedia/ u&aA geEhugHiEHT
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88. Inclusion in education refers to/ fiftm &g AHEME T g fder T
(A) Students with special needs spend all | (B) Students with special needs spend half of their
their time with normal students/ fe&H | time with normal students/ feRm 33" & fefoniadt
fefenradni® 5% faz@e a5
(C) Students with special needs attend | (D) Integration of special needs students with normal
special schools/ feim &3t @& fefanradl | students occasionally/ ferm &3' T8 fefenragnr &

89. Most commonly identified form of intellectual disability which is genetically transmitted is

./ Bt vt @ A8 3 oiH 39 '3 uEenr AE % U A fx Adfex 39 '3 yrrfes

dJer ¥ Tl
(A) Genetic syndrome/ Adfex fHsdH \ (B) Down syndrome/ 3785 fHSIH
(C) Birth disorder syndrome/ #&H fearg fAsan ] (D) Intellect disorder/ gdt fearg

90. refers to a broad range of autism disorders including the classical and severe
forms of autism/. wifeaH ¥ ISTHIE® M3 digig gut ARS niferH fears €t fEx fers
Hat v gew fder 9
(A) Autism spectrum disorders/ nifemH | (B) Autism-specific disorders/ nifemy-feRm fears
AUeeH fearg
(C) ADH/ .3t =, (D) ADHD/ &.3t.»9 5%

a1. ‘Mathematics is a language with which the God wrote the Universe’ is said by/ qfeE3 @a g
J frn feg var3n 3 gfis § fafimr & fam o faar famr I
(A) G.H Hardy/ ¥ »9 733t (B) Ramanujan/ IHEHS
(C) Galileo/ (D) Bhaskara I/ STHAd |

932, Which of the following is called building block of Mathematics/
(A) Arguments/ TS5 (B) Undefined terms/ mufgamiz Ha3t
(C) Natural Phenomenon/ d€d3t €g373 | (D) None of these/ feaa’ fi&g dt adf

93. According to NPE-1986, upto what level mathematics should be compulsory for all children in
Indian schools / NPE-1986 & W&HTJ, Ird=t AIHT feg ma dfon B¢ gifes fan dug
39 It 3T grder Ji
(A) Elementary Stage/ ma&hicdt AeH (B) Secondary Stage/ Ho3dl ACH
(C) Senior Secondary Stage/ Habid AI3dt A (D) College Stage/ dT&H Hed

94. Following the recommendations of................... on evaluation reforms in school education the
traditional examinations are being replaced with continuous and comprehensive evaluation
(C.C.E.) scheme/........ €t A&} fifepmT f&9 HB TS Hutdi € fHETari € i ; gerfest
it § fad3a w3 fenmua yaiae (fitd.) weti &8 gefgnr w faar A
(A) NCF-2000 (B) NEP-1986
(C) NCF-2005 (D) NEP-2020

as, Which type of testing helps a teacher to know ‘Why a student is feeling difficulty in learning a

particular concept?’/faH farm <t 719

ity & feg s feg yew a9t J fa

fefenraet & fan fenm dasy § fitue feg yaas fa€ »r adt o

(A) Diagnostic Testing/ BTFEWH CHfETl

(B) Knowledge Testing/ farrs 2Aféan

(C) Skill Testing/ d&d 2Afear

(D) Understanding Testing/ HHY cAfeal

10 of 20




96.

Which of following is not a problem in teac

hing learning of Mathematics/ Jat o3 fed faaz

I3 wifiprus w2 fitue &g g mifi &dt J

(A) A sense of fear and failure regarding
Mathematics among a majority of
children/ ‘El_gl_j Hiowii feg aifes <
AYy 39 39 M3 »ASE d s

(B) A curriculum that disappoints both a talented
minority as well as the non-participating

majority at the same time/ fea YrSH o ffa ™
wefgedt yfgsmedl @ a3-a® Ji9-gdtedt

qgH3 o< § faam dgwr I

(C) Crude methods of assessment that
encourage perception of mathematics

as mechanical Computation/ HBTIE 2
9 €a1 A dfe3 S
°n g9a’ § B3nla3 Ja¢ I8

(D) Enriching teachers with a variety of mathematical
resources/ MR § ¥-Y JIfe3 € AIS
3% IgYyd gSPT

97.

In the words of David Wheeler, it is “more useful to know how to -------—---------— than to know a
lot of mathematic, Fill in the blank with one of the following./ 3fes ?5‘183 (David Wheeler ) S}
HaTi {89, "9g3 7Y 9fe3 § Aes &8 feg wiesT <ud weefed J fq fag

Js fea & fan g o ysEl g 3d1.

(A) Solve F-"rn::blems/'FD:Iiﬁ:I“'HT%i B I8 d [ (B) Use Mathematics/m o €33 9d

(C) Rationalize/ IJIHII3 §IQ

[ (D) Mathematize/ dfiE3 ad

98.

As per the NCF(2005), The Mathematics Curriculum should be coherent in the sense that/ NCF

(2005) ® WEHG, dfe3 T UsgH fon »idg few feard(coherent) J& Trdter J fa

(A) It seeks to achieve the higher aim
rather than the narrower aim/ feg 3T
Surdlene B9 e dyu3 9d

(B) The variety of methods and skills available
piecemeal cohere into an ability to address problems
that come from science and social studies in high

school/é‘a é’uﬁé’avméam@wauﬂzﬁm&ﬂ
A & fefamirs w3 mfaa wifedsi 3
»iEehi Mt § I8 996 o UaET gTgE

(C) Students feel the need to solve such problems/

fefengel nifadbmt e § I8 995

B3 HiggA a5

(D) All the Above/ SUda3 A3

99.

The ratio of the areas of two similar triangles is equal to ........

s fede @ B3deST v visus Gast fonfi nigamdt (Corresponding) 37 2........

Jer JI

of their corresponding sides./ ©
< §dr=d

(A) the ratio / WiauU3

(B) square of the ratio/ M&U3 € <ddl

(C) cube of the ratio/ M&U3 € W

(D) none of these/ feaat fad It st

100.

The following observations have been arranged in ascending order. If the median of the data is

63, find the value of x.

29, 32, 48, 50, x, x+2, 72,78,84,95/ I&1 3 fadtuci § Ige qH U feenfaz dizr famr
J1I A9 3¢ & WU (median )63 9, 3T x T UB B3|

29, 32, 48, 50, x, x+2, 72,78,84,95

(A) 60

(B) 61

(C) 62

(D) 63

101.

For any two positive integers a and b, HCF(a,b) x LCM(a,b)=/ ﬁﬁ-‘ﬂ@mzma T?QEI?‘T

T (integers)a M3 b &E1, HCF(a,b) x LC

M(a,b)=

(A)axb

(B)a +b

(C)a+b

(D) b+a
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102.

Which of the following rational numbers have terminating decimal expansion?/ forafsuz fe&d
fraat UFPIE HPAHTET (rational number)f€d Hi3 (terminating) THHSE ferza der I?

(A) 15/1600 (B) 64/455

(C) 29/343 (D) None of these/ feaaT fed et &dt

103.

How many silver coins,1.75 cm in diameter and of thickness 2mm,must be melted to
form a cuboid of dimensions 5.5 cm x10cmx3.5 cm?/ 1.75 Hehitea form 3 2 ighitea
Heret 2 fd gt 2 fafamii §, 5.5 Hidhited x10 Adhited x 3.5 Adhited »ard © W (cuboid)
gEgE B fuufen e e Je

(A) 300 (B) 350

(C) 400 (D) 450

104.

A toy is in the form of a cone of radius 3.5 cm mounted on a hemisphere of same radius. The
total height of the toy is 15.5 cm. The total surface area of the toy is......../ ﬁﬂﬁiﬁ?‘ 3.5
Hehftca 2 UR 2 Fa A Tl Has v J 1 8A WA 2 ¥ maudi® (Hemisphere) €3 HGe
a3 famn 31 S & 95 Qurel 15.5 Adhiied 9. i3 © 4% H3J ¥3JE (surface area)

(A) 214.5 cm? | (B) 234.5 cm?

(C) 186.5 cm? (D) 96.5 cm?

105.

Which of the following cannot be determined graphically?/ It i3 fed fan & apfea 39
3 fagurg3 &dl I3 7T AAET?

(A) Mean / HUH'S (B) Median / Hiaa

(C) Mode/ EJ& (D) None of these/ feaat fed a€t &dt

106.

Which of the following is not a Roman numeral/ feaat {9 faga IH& »id (Roman
Number) &dl | '

(A) XL (B) LX

(C) VX (D) XC

107.

Which of the followir{é‘ilgcorrect regarding Bar Graphs/ 97 d['g’ ¥ mey 9 Jst o3
& fagzr At &

(A) Bars of any width can be drawn vertically (B) Bars of uniform width can be drawn

with equal spacing between them / fan & vertically with equal spacing between them/
feg @ & yze /<dfcas 39 3 fiforr | 9990 fE @ a@ y3er / Tdfcas 29 3
1 AT J fifan 717 Harer 9

(C) Bars of uniform width can be drawn (D) Bars of uniform width can be drawn

vertically with unequal spacing between horizontally or vertically with equal spacing

them/mﬁa@ oot grgi 6 between them/ feqag 93 dhi gl 3

Qasl fegard wms &8 @ &8 Qusi fegag gg=g fdg @ &8 Bear

gwﬁa&'aaiaéf&ﬁwwm ﬁﬁﬁaggﬂiua@/eafeagﬁaéﬁhww
HATT I

108.

The ages of Hari and Harry are in the ratio 5:7. Four years from now the ratio of their ages will

be 3:4. Their present ages are./?ﬁﬂ 3 aEﬂ < QHEI 57 @ MEY3(ratio) feg al d<& 3
gd 7S ¥me Qg & 813 T wizu3 3:4 dear 8gf @ Yige &g .3

(A) 25, 35 (B) 20,28

(€) 15,21 (D) 30,42
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109. How many diagonals does a convex quadrilateral have/ f&& AESIH d3d3d fegfda
fead(diagonals) de I&
(A) 2 (B) 1
(C)o (D) None of these/ fegai fed adt &t
110. If the number is the square number,it has to be sum of / Had AT, Ffﬁ-‘m{"m(square
numben J, 3t fe w1 iTE JeT T
(A) Successive Numbers starting from (B) Successive Odd Numbers starting from 1/1 3 Hd
1/1 3 Hd I T& BIM3d 899 | J= = marzg »is 99
(C) Successive Even Numbers starting from (D) Successive Numbers starting from 0/0 3
111. Observe the following pattern and find the missing‘digits / éalﬁéﬂeaxééﬂm?@ﬁé
11%=121
101%=10201
1001%=1002001
10001°=100020001
10000001%=...............
(A) 1000002000001 (B) 100020001
(C) 100000020000001 (D) 10000000200000001
112. Which of the following is not a perfect cube/ m@mmmmweﬁed
Cube)?)_:ﬂa
(A) 216 (B) 1000
(C) 128 (D) 46656
113. Kamala borrowed Rs.26,400 from a Bank to buy a scooter at a rate of 15% p.a. compounded
yearly.The amount she pays at the end of 2 years and 4 months to clear the loan will be/ JH&T
& 15% p.a ABTET HAG3(compound) €9 378 Ag<d Ydlee B¢l ffq 8 3 26,400 gue Qurg
B2 B 9 71 8T J9n § TEId T95 B 2 FIE 3 4 Halfenii @ i3 g et adat
€9...3
(A) Rs. 31,475.30 (B) Rs. 36,854.40
(C) Rs.36,659.70 (D) Rs. 32,434.90
114. (1.5x-4y)(1.5x+4y+3)-4.5x+12y =
(A) 2.25 x2-16 y? (B) 2.5 x>-1.6 y°
(C) 2.05 x2-16 y? + 6 xy (D) 2.25 x2-16 y* + 16 xy
115. Subtract 4p2q —-3pqg+ Spqz— 8p+7q—10 from 18 — 3p 11q+ 5pg— 2pq +5p q/4p q-3pq+
5pq”-8p + 7q- 10 ® 18- 3p - 11q + 5pq - 2pq° +5p q 3
(A) pzq - 3pq2 +8pq — 18q +5p +28 (B) p q- 7pq2 +5pq—18q +5p +28
(C) p°q — 7pa* +8pg— 18q +5p +28 (D) p2q 7|:)q2 +8pq — 18q +5p +18
116. The remainder when x° — ax? + 6x — a is divided by x—a/ Ao x’—ax’ +6x—a Ex a &T& Jid]
131 HieT d fad grdll(remainder) ot g9
(A) x+7 (B) 3a+2
(C) x+2a (D) 5a
117. The value of k, if x— 1 is a factor of p(x) = kx2—3x+k/k@)53,ﬁaax— 1; p(x) = kx> =3 x + k T
dicd (factor)al
(A)3 (B) 1/2
(€)3/2 (D) 3/4
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118.

Which of the fo'ilowing is not true when a transversal intersects two parallel lines, then each™"
pair of/ J&1 3 T faram At ot S 78 X <iHedAS @ MHTai3d duet § deer d, fad
JJd

(A) Corresponding angles is equal. Xﬁﬂ'B (B) Alternate interior angles is equal./ ﬁ?@?ﬂ
(Corresponding)d& T HF ¥aHd I || fedigd(Alternate) 92T ¥ 1 HIHIJ |

(C) Interior angles on the same side of the | (D) Interior angles on the same side of the

transversal is equal./?ﬂﬂ?ﬂﬂg@ﬁ transversal is supplementary./ E"FI?HWE 2 ¥
yRAnlegsldT oA EIEd Il (YR ©  wiEdal J U E
HYdd(Supplementary) 31

118.

Which of the following is not a criterion for congruence of triangles?/ I fa3 fed faga
fadet @ HIFTHH (congruence) S8 HUES &l J2

(A) SAS (B) ASA

(C) RHS (D) AAA

120.

A right triangle ABC with sides 5 cm, 12 cm and 13 cm is revolved about the side 12 cm. Then

the volume of the solid so obtained is/ 5 ﬁ"c’bﬂea’, 12 ﬁzﬁﬁl‘damé 13 ﬁéﬁ?ﬂé‘ﬂ‘@%@%ﬁ'
mﬁ?@ﬁzmc; 12 Adhitca &t gm @ o3 uher J1 fed fer 3g Yz A3 3 S nifess

(A) 100m cm” (B) 120m cm®

(C) 110rem® (D) 780m cm”

123

Which of the following statements is not true for organic manure?/ I o Fus &T faoz Afea
ye S8 Adt St 372

(A) It enhan::es water hO'f’iﬂg capacitvy Of“ (B) It has a balance of all plant nutrients/ & &g Ufen
zoget 3

(C) It provides humus to soil/ 5T fict & | (D) It improves texture of soil/ &g fiidt &t g=39 %
fI@HH Yo et 3 AOSY 9

122

Read the statements given below:

A. Seeds require moisture for germination./ A § gars et S & 37 ger J|

B. Plants can absorb nutrients mostly in dissolved form./ Ue drfed 337 § fimiesa w3 Je
gy ¥ Av" 53 AaE TS|

C. Irrigation protects crops from both frost and hot air currents./ fHor cAst é &3 W3 dIgH
g et orget 3 "5oge J

D. Irrigation improves soil texture./ fHOS &8 S & g=39 &9 gug der J1

Choose combination of statements which indicate need to irrigate crops./ IHG © HAG ge
ad o ens’ o fiod & 87 & Tonge Jsl

(A)Aand B (B)A,Band C

(C)A, B, C and D (D) A and C

123.

The process of loosening and turning of soil is called i 'cii féor ag9& 3 yaes o qi‘aﬁmr' ?;S'
fagr 7er 3 '

(A) irrigation and manuring/ fioe w3 y= y@s" | (B) digging and winnowing /HTEl W3 8ce'

(€) tifling and ploughing /7IE* W3 I Tfer () harvesting and stoPage /S WEPPIT L
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124.

In the absence of which of the following, will photosynthesis not occur in leaves?/ foge™ f&d fam ©F

(A) Guard cells/ ITIZ RS (B) Chlorophyll /a&3fas

(C) Vacuole /2IES (D) Space between cells/ RS fegarg &g

125.

Which of the following statements is/are correct? /IS &3 FHGT €0 Faza/Adt I7?

(i) All green plants can prepare their own food. /A S I3 Ue WUsT 376 ¥T f3wg 99 Ade Ia |

(i) Most animals are autotrophs./ffe 33 Aaed WI"éaE Je Is|

(i11) Carbon dioxide is not required for photosynthesis. A {d™H HAadHs 38 996 IeaA s ©f 83
adt J

(iv) Oxygen is liberated during photosynthesis./(H HASHE 8IS WIHIASG HE3 J At I

Choose the correct answer from the options below./ 36T fi&3 feawut &8 At Ay g=|

(A) (1) and (iv) (B) (i1) only

(C) (ii) and (iii) (D) (1) and (i1)

126.

Anushka wanted to buy a gift made of animal fibre obtained without killing the animal. Which of .
the followirg would be the right gift /amer Fe=d © I &3 fast Ased’ 3 yuz &3

greteg 3 gfenr 3ger ydies gdel /At fogst &9 faos Adt 3ggr 92ar

(A) Woolen shawl /€8 A5 (B) Silk scarf /JHH AT

(C) Animal fur cap/ Foed @9 (D) Leather jacket/ 913 ©F Aac

127,

Which of the following statements is/are true for sexual reproduction in plants? /Ufenw’ &g fasH
yros B8 dt i83 guet &9 fqagv/madt 37

(i) Plants are obtained from seeds./ Y€ =it 3 yu3z a3 7 I5|

(ii) Two plants are always essential. /2 U IHA" A3 e I |

(i) Fertilisation can occur only after pollination. /Ug<rE 3 g Jt ¥ der J Aa J1
(iv) Only insects are agents of pollination. /fHdg aigd It YIRI3 a3 © Iad IS |

Choose from the options given below./ 957 fi&3 feasy T Te|

(A) (i) and (iii) (B) (i) only

(C) (ii) and (iii) (D) (i)and(iv)

128.

Arnav visited a forest near his town with his classmates and his teacher. As they were entering
the forest, their class teacher told them not to make noise in the forest as noise could

disturb/™3ae & WUE HAfgUSHY w3 wiye wiftmiyg &8 wiue Jigg € 33 89 Hae © @ar
dI37| AT @9 Hoig ¥ ©s J 99 An, B @ I@TH wifmiyg & Ot § faor i §9 Hars e
Jgr & yQs fagfa #g uSFs I3 AdT J|

(A) birds /&Mt & (B) animals /7&<d” &

(C) both birds and animals /&M w3 Areed’ €<F § | (D) plants /dfen &

129.

Which of the following is not the name of a tree?/ J&" f&3 &5 fauzr Ju © &1 &df 37

(A) Teak /& (B) Sal /A&

(C) Porcupine/ USgursls (D) Kachnar //agag

15 of 20




130 | Seas and oceans are full of water on earth. However, a very small percentage of water present

on earth is available for us. This percentage is roughly/ T33t €3 miTd W3 AWE Usl &8 39
I ga| IEfa, gIst '3#@?@@8@3%@%@8@@@@ forg Y3 891891 I

(A) 0.006% (B) 0.06% 1
(C) 0.6% (D) 6%

131 | Aman digging the ground near a water body found that the soil was moist. As he kept digging
deeper and deeper he reached a level where all the spaces between particles of soil and gaps
between rocks were filled with water. The upper limit of this layer is called/fea fena3t & &
HB-FI3 @ 3% mile of Yot gge I8 e fx ifd f[ifd it fAe-fAd 89 ult 3 uil yedl
ST faor, 9 67 tug '3 ude famr 118 A1 @ e »3 g’ © fegaad ug © fegas
A 't Ut &% 99 gl o ug3 € QuaEl i § T wie 9
(A) water level /el € Ugd (B) water table/ 3Ht A8-H39
(C) groundwater /33t J&ST U=t (D) water limit. /uTet ©F HIH

132. | The amount of water recommended by the United Nations for drinking, washing, cooking and
maintaining proper hygiene per person per day is a minimum of /3t fewa3t Y3t fow WiE, Iz,
e yer@E W3 A O e T S8 Ayes IHed evdT fAeer JiSt I urel € we-we
H3T I
(A) 5 litres (B) 15 litres
(C) 30 litres (D) 50 litres

133. | Water polluted by various human activities causes a number of water borne diseases. Which of
the following is not a water borne disease?/ S4-34 H&H IFifedmi &8 Yefitg uel S8 33
St e T args gee J1 35 Bimi &Y faodt urst a8 It TF! fardt &t 37
(A) Cholera/ 3w (B) Typhoid /<8iedlg
(C) Asthma /TH" (D) Dysentry /UGH

134. | Which of the following is a part of inorganic impurities of the sewage? /foHaEH3 &Y fagar
Hean ot wiarggfes widh T e fdar 37
(A) Pesticides /SIcaTH (B) Urea/ @t
(C) Phosphates /@ HacH (D) Vegetable waste/ AEHMif € Ifdje-dae

135. | Which of the following is not a source of waste water?/ 35" f&3 &5 fagzr g U=t & AI3
adt I?

(A) Sewers /HIEd (B) Homes/ Wd
(C) Industries/ GTtar (D) Hospitals /TAUIS
136. | A beggar wrapped himself with a few layers of newspaper on a cold winter night. This helped

him to keep himself warm because /g faurdt & g 331 I3 § weEg € I8 UI3T &5
wiE wiy & sie ol o & 8F § Wi wny § I JuE fe HeE aliSt g

(A) friction between the layers of (B) air trapped between the layers of newspaper is a
newspaper produces heat /WHEg ©M | bad conductor of heat. /nHEg it UI3' € fegag

YISt fegd 9urg ot e Joct o 2 I8t geT gt © W Hoed I

(C) newspaper is a conductor of heat. (D) newspaper is at a higher temperature than the
/g JIH © Aosd JI temperature of the surrounding./ "HeE'd Wa-TV3
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137. | Raghav and Vrinda measured their body temperature. Vrinda found her’s to be 98.6 °F and
Raghav recorded 37°C. Which of the following statement is true? /3We W3 fder & WU FAId
T IUHS Hfimr| 2fder & WyET 3UHS 98.6 °F W3 IR & 37°C Tad ai3T| It i3 aus’
& fagar A 37
(A) Vrinda has a higher body (B) Vrinda has a lower body temperature than
temperature than Raghav /<fder @ Raghav/ €fder @ AJI9 © 3UN'S duWe &8 we 3
AdIg & 3UHS IR &8 G 3
(C) Both have normal body temperature | (D) Both are suffering from fever /22 999 3 133
/BT € A9 T IUNS AOSS I 9%

138. | Iron pillar near the Qutub Minar in Delhi is famous for the following facts. Which of these facts is
responsible for its long stability?/ f&8 &g a3mited @ &3 83 © =#H J5 &9 Ig a5 HAJS
J| fegs Y faozr 39 forct st AfggsT st il 37
(A) It is more than 7 metres high/ f5g 7 (B) It weighs about 6000 kg. /foH T 379 BISJT
Hieg IS Qo I 6000 faBIH J1
(C) It was built more than 1600 years ago. | (D) It has not rusted after such a long period. /f&&
/18 1600 AS Ufgst gerfemir famr At WW?W@@H@WW@I

139. | An EVS teacher of class V shows a video of different types of animals like reptiles, and

amphibians and discuss about them. The most appropriate objective of the activity is to draw

attention of students to /UAZ AW © B 8@ ", wimmug S4-2y g @ Jaea e
HUF, W3 A8-88 fie T AJ6 fouter I w3 898 93 Igur ager J1 fefowgsh o fimrs
fHos sa IEifedt & faodt 99 73 3 gad I7

(A) show food items /HE Uts St (B) observe variation in animals and their living
A oS /A6Rd w3 B © Ifge-Afge e Fa3r § &

(C) Names the animals/ Aa5<d’ @ & (D) Importance of animals /A"&<d’ © HJ3<
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140.

A school trip has been organized to visit to jaisalmer during summer season by EVS teacher. The students
are taken to fields where rainwater harvesting is done and are asked to prepare a case study report

about rainwater harvesting. The purpose of such a trip is to: /WWWW@W
fég AFENT T Jor a6 B8 Bid AGS W3 T WIHG i3 famir | fefenrge § U3t e
farfimr Aer 3 /8 i @ usl & dgs i3t A 3 w3 @It § i © uel & He's §d aA
S fallge fanwrg ags &6 fagr Aer 3 wiadt wr3a & gen J:

| Make students understand how the human mind can solve problems that are not solved
by the nawre/ fefenrgsni & AHFE fa W forrar @ast mifimre’ § fag I8
I AT I 1 ITd3 eI I8 St aSmt A IS

2 Such activities not only help the learners enjoy the time outside the class but also
allow them to learn the importance of water conservation /WM JrStfedmit &

gas' & uet €t A & W33 § filue 8 & vee S9Em 36
3 helps students in learning how to write case study /aH nifimls fousr fide €9
fefenrgemi & Hee ader J

(A)1,2and 3 (B) 1and 2

(C)2and3 (D)1and 3

141.

Which among the following considerations would an EVS teacher keep in mind while designing

a group activity in the his class /& SR witmua wiuet I &9 fEd AHId JrSifedt

| Engage the interests of the children /Sfomf 2 ISEY § HHE dIo7

2 Appeal equally to boys and girls /SFd W3 BFaM § SI=g T »iE ST
3 Use expensive material/ HfFa et & =93 a5

4 Appeal to children of all religious and cultural backgrounds/ A/J Trafia w3

(A)1,2and 4 (B)1,3and 4

(C)2and 4 (D) 2and 3

142.

NCF 2005 has not recommended any prescribed curriculum and text- books for EVS for class |
and II. The most apgropriate reason for this/ NCF 2005 & J&H I3 || S EvS &g fan

fsguras UseH w3 Us-yA3s @ figan adl it 31 fom © #Y 3 geet a9 9

(A) EVS is only for class Ill Onwards (B) Learners in class | and Il cannot read and

/8EmA e A A3 3 = B8 3 | write/TH3 | w3 11 @ fefonradt ug-By adt AR

(C) To Provide contextual environment (D) To reduce the load of curriculum /UdeH T 3J
/AR T3RIE TS AI6 B we Qs Bh

143.

(A) Family/ ufgeg (B) Primary school/ Y feHdt As®

(C) Play school /U8 AIS (D) Society/ AHH




144.

Match the following I &9 o7& A& a3

List I List II

A Formative Online Assessment Tool I Weekly Self Test Quizzes
fix granfee WasEls HEEE 78 JeITd A SHE e

B Summative Online Assessment Tool Il Individual Laboratory Report

Hay WssEs YBidE 8 fen 33 Yuams' fadae

C Formative Offline Assessment Tool  III Self Assessment Module
granfes viegds wAAHC T8 AR HBaE HII8S

D Summative Offline Assessment Tool IV Weekly Quiz

(A) A-1, B-1I, C- 111, D- IV (B) A-1II, B-1V, C-1, D- 11

(C) A-1V, B-1IL, C- 11, D- I (D) A- I, B- 1, C- IV, D- 1

145.

Assertion (A) : At memory level, teaching is nothing but learning the subject matter by rote
Reason (R): As against reflective level, the memory level is highly thoughtful
Choose the correct from the following/a8a (A): WeeH3 © Ung '3, wimms g8 & &di 3

yg fer § Je & fide der I 395 (R): y3ifds Jog 2 feda, weTHs © Uug 85g3 e
feorgris der 3
Jot i3 &3 7Rt &t I a3

(A) Both (A) and (R) are true ©< (A) »3 | (B) Both (A) and (R) are false/ T2 (A) M3 (R) IB3
(R) 3 TS 3T IS

(C) (A) is true, but (R) is false./ (A) Bt I | (D) (A) is false, but (R) is true./ (A) 3&3 I 3 (R)
w3 (R) TSI I IB3 T

14e6.

The teacher with 50 students class, wants them to participate in an activity which involves
maximum number of senses to enable to enhance learning, for the purpose he have to follow the

suitable activity of/50/ fefenrggh €t g T wiftwrua, grger d 3 @g g wifadt astfedt
&g i 3= fan £ Imrs ffedht @ witasH Afir s J2, 37 1 filys feg eor I2 , oA
Gon 38t 9R § v Iifedt faadt Iai e

(A) Organizing field visit to some (B) Using relevant smart class teaching-learning

popular places /J% Yfifa AE"s" B materials/ HHfU3 MHge I&H witus-fysa
33dt 29 T WHS dI&" Mgt € <393 aI5"

(C) Encouraging debate and discussion (D) Inviting resource persons from community to
among groups /AHI" &5 GfaA w3 demonstrate their skills /AH f<g8 fgRAgR UIAG

gdu § €3u a3z SI&" WE god € YTOHs Sd6 S8 g58T

147.

Which of she following can be more helpful in learning about the “Mountains and Agriculture”

through ICT?/ ICT @™ "ugragt w3 83adt 3 five R Jo fBhmi &9 faggr =09 nofea
J Heer 7

(A) Projector /Qﬁ_o!EH (B) Slides /A I

(C) Video /&€ (D) Recorder /faarazd
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148. | Which of the following are the major socialization agencies /g’ &Y fagdnt Yy mHiags
AN I5
I.  Community /3EGT
II. Family /ufded
II.  Same group /HAH'SG AHJ
IV.  Formal Educational Institutions /gAH! fefema ARE<r
(A) I, IIT and IV (B) I, II, Il and IV
(C)Iand III (D) I, Il and 11
149. | A teacher intends to conduct remedial classes for some students who are not respondmg
satisfactorily. Which type of evaluation she/he would undertake for choosing students for her/his
remedial classes?/ s witmug gy fefowgsv B8 Quogd I8 Barge o foger Juer I o
IFGEYE 7Y &df @ 99 95| 89 Quuaa IuAT 39 fefewrgdEM € dE J90 Bd Qg fan
fIAH T H&eE 347
(A) Summative evaluation /7H3U H&aE | (B) Diagnostic evaluation /3aiSHfCT HBIE
(C) Assessment of portfolios /0deaBIE | (D) Competency based evaluation /HHI3™ Wafd3
T H&gE HBFE
150. | Special attention given to students with or without special needs 1s called /feRm 83 T8

(A) Integrated education /2diifqz fiftmrr | (B) General education /™ fifemir

(C) Remedial education /@uoad fHftmr | (D) Special education/ fenm fAfemr




